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QUESTION 1

When configuring an explicit path, what does the next-address entry identify?
A. the tunnel end point

B. the tunnel start point

C. a specific node to be traversed

D. the node prior to the tunnel end point

Correct Answer: A

QUESTION 2

Which configuration command places interfaces whose IP addresses are between 192.168.0.0 and
192.168.255.255 into OSPF area 0?

A. network 192.168.0.0 255.255.0.0 area 0.0.0.0

B. network 192.168.0.0 0.0.255.255 area 0.0.0.0

C. area 0.0.0.0 network 192.168.0.0 255.255.0.0

D. area 0.0.0.0 network 192.168.0.0 0.0.255.255

Correct Answer: B

QUESTION 3

What does a BGP route reflector do when reflecting a route?

A. It prepends its cluster identifier to the route\\'s cluster list.

B. It prepends its own originator identifier to the route\\'s cluster list.

C. It replaces the route\\'s cluster identifier with its own cluster identifier.
D. It replaces the route\\'s originator identifier with its originator identifier.

Correct Answer: A

QUESTION 4
Which CLI command is used to enable MPLS Fast Reroute on a ingress router?

A. mpls fast reroute

Latest INO-130 Dumps | JNO-130 PDF Dumps | JNO-130 VCE Dumps


https://www.passapply.com/jn0-130.html
https://www.passapply.com/jn0-130.html
https://www.passapply.com/jn0-130.html

VCE & PDF https://lwww.passapply.com/jn0-130.html
2024 Latest passapply JNO-130 PDF and VCE dumps Download
PassApply.com

B. mpls fast-reroute
C. enable mpls fast-reroute
D. tunnel mpls fast-reroute

Correct Answer: D

QUESTION 5

During OSPF adjacency formation, in which state is a router in when an OSPF hello packet has been sent but bi-

directional communication has not been achieved?
A. Init

B. 2Way

C. ExStart

D. Exchange

Correct Answer: A

QUESTION 6

Which two statements are true regarding L2TP? (Choose two.)
A. Tunnels are initiated by the LAC.

B. Tunnels are initiated by the LNS.

C. By default, subscriber authentication occurs on the LNS.

D. By default, subscriber authentication occurs on the LAC.

Correct Answer: AC

QUESTION 7

Which CLI command displays the status of a PPP over Ethernet subinterface?
A. show pppoe interface

B. show ppp int state up

C. show ip interface brief

D. show pppoe subinterface

Correct Answer: D
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QUESTION 8

What are three ways an IP interface can be assigned to a virtual router in a PPP over ATM environment? (Choose
three.)

A. profile

B. policy list

C. domain map
D. RADIUS VSA
E. classifier ACL

Correct Answer: ACD

QUESTION 9

Two Level 1 routers are exchanging Hello packets with different Area IDs. What occurs between these routers?
A. An Adjacency is formed.

B. No IS-IS PDUs are sent

C. An Adjacency does not form.

D. An Adjacency forms but traffic is not forwarded.

Correct Answer: C

QUESTION 10

What are three valid LDP message types? (Choose three.)
A. peer discovery

B. label distribution

C. path initialization

D. session management

E. connection establishment

Correct Answer: ABD

QUESTION 11
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Which three are correct about L2TP tunnel selection algorithms? (Choose three.)
A. Failover between preference levels is the default.

B. One algothrim is failover within a preference level.

C. Failover across all preference levels is the default.

D. One algothrim is failover between preference levels.

E. One algothrim is failover across all preference levels.

Correct Answer: ABD

QUESTION 12

What is the default authentication method on an OSPF interface?
A. null password

B. simple password

C. message digest 5

D. Password Authentication Protocol

Correct Answer: A

QUESTION 13

Which command prompts an ERX Edge Router to go into a loopback mode on T1 number 1 when a command is
received from a remote ERX Edge Router?

A. t1 1 remote-loopback
B. t1 1 loopback-remote
C. t1 1 loopback remote
D. t1 1 remote loopback

Correct Answer: A

QUESTION 14
Which two functions can be configured on the ERX Edge Router to support MBGP? (Choose two.)
A. address-family ipv4 unicast

B. address-family vpnv4 unicast
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C. address-family ipv4 multicast
D. address-family vpnv4 multicast

Correct Answer: BC

QUESTION 15

You are trying to recover from a corrupted flash. Which configuration command configures an IP address of
192.168.1.1/24 on the SRP management interface when the ERX1400 router is at the boot## prompt?

A. ip address 192.168.1.1/24

B. ip address 192.168.1.1 subnetmask 24

C. ip address 192.168.1.1 255.255.255.0

D. ip address 192.168.1.1 mask 255.255.255.0

Correct Answer: C
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